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3o S SR ETFE TR SN xoT v 20in
(T 1 ?F’!yat)%'%?t ; ; -’z\jf 6; L INHIZ, TNENDORTHDH7 0L 140 ZHETIIL,
R ESd U FERL BOESIX980. HNESF1400L43,
fsl 3 T IR E ﬂ;% 7|4 INHOEREZ YV, INHOES2G LT 5 & HOHE LY
%‘i-'r_- %t — ]""b’ 5 & &’)‘1 "‘/‘ ‘Eé i G:V=X:1 OEXNBVTbHNRD
T RA R st g Tl INEHET DL e HOES (X) ZRDDILEBTED,
% 7 sk e o ’f z 1% AakfiE
2529587 EL i)
22Labnd METV7
[J_,jz‘-f 4 {')\ R T ? i,&ﬁ
Fr4e% 0 TSI
@ 02T = ﬁ]g é:;«sb 4 'ﬂ?%:z' ! -
iResht®s TrLy
FEFRSEEE NS Ty
FERaT T 5 BN
. A.__-__.__;_,_ﬁ___ i o o % ’?T é}'; # v |
F—)—F keyword — \/
Lt . ratio ﬁggg ENGL | SH
@E*’E - \{olume . Silver s volume 1s X. Copper s volume 1s Y.
I HFIER simultaneous equation DX ALY =27

IRAAVEBER mMopeERN TRANSL

S

S
v

i

_v

sy

y3l 5

D TCZxZMN— |
ZEBAST F
& DD ALk
W2y TH T o
D2 T/hNLIKD 5
&S AR EH S
J& D D S o
AN R A
SR < G | D
TKIZD %

c I N RN
o HEE W
WD EDH T
RO EE CH 4

EoXExg
< EF LR
A BN S T O ST
B E )
L NIKD D
B A b E
_C PETE
o Fkco %
LA ST R A R
E/ZL Vi ANANKS
KT o kb k&

LD Ep )&

O Xz zn

1 &<

2140X+70Y=2380

Solve the system of equations. Transform Formula W to Y=2 7 — X.
Next, substitute Y=2 7 — X for®.140X+70(27 —X)=2380.
Solve the numerical expression. If so, X=7 Y=2 0.

>
Z

CONSEREE S e (v ¢ A N T

MEDE | TS oI ERITHTHIBIE IS

NS VT =IH L O O S v N BRI+

rate and you'll get 980™°%" that silver's weight is.Divide copper's volume by copper's rate.And
you'll get copper's weight is 1%4n400m0ok%,

Use a container of cuboid and koban find gold 1°%" weight.

Put some koban into cuboid's container and put water into the container for look for koban's
welght 1n gold 1°%" Next take koban out not 1n order to spill water, and calculate the lost water
volume.Divide koban's weight by the number of the lost water volume.And you'll get koban's
welght 1n gold 1°*"* When you look for silver, copper, lead and so on, you should think model
after way of thinking.

O N R (VA T O A
Sarkbd | & e m—+ = = |

TI10O
MR 4R — E 4R Multiply th\ese by each rate 1s 7 0 an\d 140. |
hoX++L Lt é Lo And copper's volume 1s 1400, silver s volume 1s 980.
QC\ {Zli 'l{ 1 ﬂ/i B N7 DS 1) Koban's volume 1s V. Gold s volume 1s G.
4?% _ H _ D i EL /72‘; - Use ratio s calculation.And you can set G:V=X:1.
%) 3; o ? Z}jb fb Q gﬂ 2}59 <) Calculate the equation, and you can look for weight of gold 1°*" cube.
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DO —HFE "B mh There is the silver cube of one edge 35*" which has in copper.They are weight 2%4"*380™°*%* When
=B Y5 5= 1z the silver cube is one edge 154", it 1s weight 140™°ku When the copper cube is one edge 154", it is
A % iz D fE\ ‘ weight 70meku,
(L E\ 4R Find each weight.
2 é T AR First, look for the silver cube's volume and you'll get 27"° Next, multiply 27" by 70™°k% and
{OZDIK § 3; EC & you'll get 1%2n890™ok4 Subtract the copper's rate from the silver's rate.Divide the silver cube's
B 5@ volume by the remainder and you'll get 7"° that silver's volume is.Multiply 7*° by the copper's
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Two had a problem this time and worked on a problem using a simultaneous equation and the various calculating formulas
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including the calculation of the ratio 5| F
When the ability that I could use the underlying power of the mathematics for well was a necessary problem, I felt it RiTEERIFREHZEE Mitate Sanpou Kiku Buntoushu
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The next wants to untie a problem only by their power without understanding a problem only by their power deeply because

I had advice of teachers a little.
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Touch the problem that I can't usually touch easily as the native mathematics of Japan this time.

But it's possible, and I think 1t was very good experience, so I'd like to make sure that this experience can be
utilized for the taking an examination which 1s a daily lesson. T
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